
Max Nlekhanikov - HWG - ok to post

1)
no (f) = 0.1 no ( t - 1) + 1.2N , (1--1)+0.9 nz(+ - 1) +0.1ns (t - 1)
n
, (t) = 0.95 holt - 1)

nz (t) -- 0.97N , (1--1)
nz A) = 0.9 nz (t

- 1)

n , (1--1)=0.95%(1--2)

nz (1--1)=0.97 n , (1--2) , n , (1--2)=0.95%(1--3)

nz (1--1)=0.976.95) no (1--3)

nz (1--1)=0.9 nzlt
-2)

,
nz(t -2) = I
0.976.95) no (1--4)

↳ (1--1)=0-9/0.9> G.as / no (t -4))))

no /t) --0.1 no (1--1)+1.2/0.95)no (1--2)+0.910.9215)no(t
-3)

+ 0.1 (0.82935) no (1--4)

Nott)= 0.1 no (1--1)+1.14 no (1--2)+0.82935 no (1--3)+0.082935 no (1--4)

REQ = [0.1 ,
1.14

,
0.82935

,
0.082935]



Largest eigenvalue = GrowthCe 
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All rows are equivalent and S1 is the most popular, followed by S2, S3, 
and S4 in that order.
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